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necessary. (40pts, 2pts each)

HBr

; (1) Hg(OAc),, THF/CH3;0H
T (2) NaBH,, aq. NaOH

CH,N,

NaOH, excess Iz;‘
H,O0*

CO,Et _2.2 eq. MeMgBr;

H,0*

g% iag

Br2, H20

- ©/U\/\ nBu,CuLi; H30*

. © AICl3, CH3CH,CH,-Cl

o ©/V°N H,0*, Heat

O@_

Br,, CH;CN / H,0

Show the ﬁ1ajor product for the following reactions and indicate the stereochemistry of product if

o)
11. (1) HoN-NH,
(2) KOH, Heat

1.05eq. NaOEt;
" H307

o)

5 ij/coztBU H3;0*, Heat

15. /\/\/\/\COZH Trace P, Bry,

AgOH, Heat

16.
6 NMe;Br

o

17, @/\WOH MnO,
COzMe o
1. @ + “/ 150 °C

/\/\/\)‘i (1) Et3N, SOCI,
19. OH

(2) tBu-NH2

Pz
©/\// nBUMgBr; CHjl
20. A
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B. Explanation (10 pts, 5pts each)

1. Why conformer B is more stable than its corresponding conformer A?

O H
CH,

A B C(CH;3);

X OMe
NC NaOMe, A NC. Relative rate of X
F>CiI>Br>1
NO, NO,

IC. Propose the mechanisms of the following reactions. (50 pts, 10pts each)

1. 0,
1, @ B-H, THF
2. 30%“202, aq. NaOH

2.
w5+ e = e
(Diazonium salt)
3.
N H. +
>VCHO + NC-CH,-PPh;Br arl; H0 )(\/CN
4. [0} —

+ ~_0OH O: .

2. Explain the relative reaction rate of aromatic nucleophilic substitution reaction.




